Pan-European pension survey 2021 Netherlands

September 2021

gfs-zürich, Markt- & Sozialforschung M.A. Stefan Keller, Project Manager M.A. Stephan Vonschallen, Project Assistant Lucas Torre, Intern







Methodological note

Population:

Method:

Survey period:

Benchmark Countries:

Participants Benchmark:

Participants Netherlands:

Panel Size Netherlands:

Response rate Netherlands: 30%

Confidence interval:

N = 1'050 and 50%; +/- 3.1%

Pan-European pension survey: Results Netherlands 2021

European consumers in the insurance sector

providers

12.07.2021 - 05.08.2021

Germany, Greece, Hungary, Ireland, Italy, Luxembourg,

Spain, Sweden, Switzerland

N Benchmark = 16'799

N Netherlands = 1'050

(incl. Netherlands)

35'000

Netherlands, Norway, Portugal,

Austria, Denmark, Finland, France,

Online interviews in collaboration with European panel







Survey findings

Are you already saving for your retirement through a supplementary pension?

Multiple responses possible, avg. number of responses = 1.2, N Netherlands = 1'050, N Benchmark = 16'799



Results Netherlands 2021



Are you already saving for your retirement through a supplementary pension?

Multiple responses possible, N Netherlands = 1'050, N Benchmark = 16'799





Has COVID-19 had an impact on your saving plan for retirement?

Multiple responses possible, avg. number of responses = 1, N Netherlands = 1'050, N Benchmark = 16'799



Pan-European pension survey Results Netherlands 2021

Question Q6A



Would you be interested to start saving for your retirement through a supplementary pension in the near future?

Filter: not saving through supplementary pension, N Netherlands = 235, N Benchmark = 6'357



Question Q7



Up to what age do you believe you will live?

Numbers in mean values, N Netherlands = 1'050, N Benchmark = 16'799



Question Q8

What do you prefer for your pension savings?



Pan-European pension survey Results Netherlands 2021

Question Q9

Multiple responses possible, avg. number of responses = 1.3, N Netherlands = 1'050, N Benchmark = 16'799





Protection in case I live longer than expected to prevent me from outliving my savings?

Multiple responses possible, N Netherlands = 1'050, N Benchmark = 16'799



Question Q10



Protection for my beneficiaries in case I die before/after reaching retirement age?

Multiple responses possible, N Netherlands = 1'050, N Benchmark = 16'799



Question Q10



Protection allowing me to continue to contribute to my pension even if I lose my income due to injury/disability?

Multiple responses possible, N Netherlands = 1'050, N Benchmark = 16'799



Question Q10

When retiring, what would you prefer?



Question Q11

When retiring, what would you prefer?



Results Netherlands 2021



How would you prefer to receive your pension information?



Results Netherlands 2021

Before buying a personal pension product, what piece of information would you deem particularly relevant to make your choice?



Multiple responses possible, avg. number of responses = 4.1, N Netherlands = 1'050, N Benchmark = 16'799



Pan-European pension survey Results Netherlands 2021

Question Q14

Once you have bought a pension product, what piece of information would you deem particularly relevant to assess your pension situation?

gfs-zürich

Multiple responses possible, avg. number of responses = 4, N Netherlands = 1'050, N Benchmark = 16'799



Pan-European pension survey Results Netherlands 2021

Question Q15



When saving for your retirement, what are you looking for?

Multiple responses possible, avg. number of responses = 2.7, N Netherlands = 1'050, N Benchmark = 16'799



Question Q16



Statistics





Education





Employment status





Marital status





Statistics



gfs-zürich, Markt- & Sozialforschung

gfs-zürich, Markt- & Sozialforschung Riedtlistrasse 9 8006 Zürich +41 44 360 40 20 www.gfs-zh.ch

Project Manager M.A. Stefan Keller +41 44 360 40 21

